TILT =

HYDRA ALIEN

MONITOR BRAGKET EEEEW



HYDRA ALIEN MONITOR BRACKET

AR -

HAMBO001 STHRZR ()

X1
HAMB002 R4V DR (FRER)

X1
HAMB003 FHZER(HrfC)
HAMB004 INFRIVEHIFH(EAR)
HAMB005 TERFE TR (1RC)
HAMB006 NATO#& (%)
HAMB007 RANF L (15Re)
HAMBO08 |  EANFEHE R (%)
HAMB009 18650fFB £ (1#EER)

HAMB00S




[HErET

ARRIF &
=g
AISMETILTA
MY R
FHE

NATOig&*
=2

fl ersh AN
REFRE

1/4%ERFL
&)

0000

1AERF (RE]
AYMER R

@ © @ 11418423, (REDE)
K TEENE FNIRE

PEBRIPE Y (TRE] thenieEliReE BipAl

1 x:
BEXET rxE

BEARFADAIENE ETEHEREL RS

*REREONATOBKAET RN iEH
HT180ENBERT HiRRHEHTX




MV ORI
910 4% P Ui 2 2

s -

2. 4R (1) R A S B (MMBRAR7TLAR)

1.4V OMRET 1/488 42 2%
ISR EM1/41823, E, 7
EFHRRENE. VOB,

3.fREEVOMRE EA EHVORM, REEN
AR,




04 zr-Fnzz

3RBFRER, IFRIEANE

FI360EhEks,

E.

2. FNZRFN
BEEER

IRECFNZ R AIREERE /4L E

HHFNHTIMNEE BRISEE

1.




05 [ mrEnRETA(EER)

1. XERAGUFREARRIFEZEO L
AEEOMBRIEHFR(ER) SIERERRH

2. XEREMHENATORBSK ARBINATORKEMHER
QMR EFH(R) SNERRBE/ZE




2 M FHER 360 EE-NATOR S
HRREANFROERSR RARBFER

1. XEREMWREFTI4NMI4EMAL
AESOROINFRUERHRRQTILTARONFR
0 TITREMAE/ TR




07| %m1s650mmaiam) )

XEBERMEBSN/AEMI, TEE
TILTA 18650#tm =+ ith ()R FHAE.

* 186504t ERBRETYPE-C 5V, DC OUT 8VEMEEED .. 4
R EIRRIRETERERE, LR RISHIRE .




HYDRA ALIEN MONITOR BRACGCKET

ﬂBiDVERWEwga

PRODUCT NAME

HAMBO001 | Mounting Bracket (standard)
Adjustable V-mount
HAMB002 | Battery Bracket (standard)
X1
HAMBO003 | Phone Holder (standard)
Remote Control Handle
HAMBO04 | for RS 2/Ronin S (optional)
Dual Channel Wireless Lens
HAMBO0S | Gontrol Handle (optional)
HAMBO006 | NATO Adapter (optional)
Nucleus-Nano Hand
HAMBOO7 | Wwheel Controller (optional)
Nucleus-Nano Hand Wheel
HAMB00S Attachment Plate (optional)
HAMBO009 | 18650 Battery Pack (optional)

HAMB00S

HAMB006-




|ngiMEILINTINI3 BRACKET FUNCTIONS (/)

* The @ NATO rail on the mounting
bracket can be adjusted 180° .
Flexible for various setups.

ARRI standard
rosette
[right]

For mounting expan
—sions such as the
Tilta Remote Control
Handle for RS 2, etc.

Oo0Oo0O

1/4” =20 threaded hole with
locating points [top]
For mounting accessories

NATO rail* [left]

For mounting acces

—sories such as a

y Nucleus Nano lens
control motor, etc

114" -20 threaded
hole with locating
points
[teft]

©oo

<L 1/4” -20 threaded hole
[middle of the top]
For mounting monitor or phone
£T  holder

Anti-slip pads [top] Protects the gear from scratches and adds more security

e

Sliding adjustment [bottom]
Slides forward and backward for mounting wireless video unit.

Ne——




INSTALLING ADJUSTABLE
V-MOUNT BATTERY BRACKET

* The screws

can only be

\ installedfrom
the bottom two

ends of the adjustable

V-mount battery bracket.

1. Install the adjustable V-mount battery bracket to
the mounting bracket using the 1/4” 20 screws.
It" s compatible with mounting accessories such

as an on—board monitor, V-mount battery, etc. @

2. Monitor mounting demostration.
(Maximum monitor size is 7” )

3. V-mount battery can be mounted on the back of
the adjustable V-mount battery bracket to power a
wireless video unit or on—board monitor.




||| | INSTALLING PHONE HOLDER

2. The phone holder can be
adjusted 360° for operating
needs.

3. Tighten the tie down after
adjusting the bracket to the
desired postion.

1. The phone holder can be installed through the 1/4” -20 threaded -

hole and be used for monitoring.




Iz INSTALLING REMOTE CONTROL
AND FOCUS HANDLE (OPTIONAL)

1. The ARRI standard rosette on the right side of the mounting
bracket can be used for mounting 1) Remote Control Handle
for RS2 (optional) to achieve remote control during car shoots.

2. The NATO rail on the left side of the mounting bracket can be
used for mounting 2 Dual Channel Wireless Lens Control Handle
(optiona) via a NATO adapter. This supports remote focus and
zoom control.




2. Loosen the tie
down screw to adjust
the NATO rail 180°
and adjust the Nucleus Nano lens
control motor to fit your operating
position.

Nano Hand Wheel Attachment Plate to allow you to mount a

INSTALLING NUCLEUS NANDO
HAND WHEEL (OPTIONAL)

1. There are four 1/4” -20 threaded holes with locating points
on the left side of the mounting bracket. Install a 1) Nucleus

2 Nucleus Nano Hand Wheel to control focus or zoom remotely.




14 INSTALLING 18650 BATTERY
PACK (OPTIONAL)

The mounting bracket has multiple built=in 1/4” =20
threaded holes with locating points. It provides mounting '
space for the Tilta 18650 battery pack (optional) + 18650
batteries (optional).

* The18650 battery pack has 5V USB and 8V DC power outputs. Please check
the voltage of your equipment before plugging in to avoid any possible damage.




TILT =7

MRS LR BIRARRAE
BN GAER
FABEENEFRAENNER TEL~REH

TILTFA1 2RSS ERA T MR

BAMiG: fita.com.cn  www.filfa.com
ITH YRR X4 7 S FHERM R EBIR2M
1 4006 1998 67

All copyrights belong to Tilta Technology Co. Ltd.
Written permission is needed for any reproductions.

Tilta has the right to adjust product specification without notice.

TILTF7 is a registered trademark owned by Tilta Technology Co., Ltd.

Website: www. filta.com
US Address: 2801 W Magnolia Blvd, Burbank, CA 91505
US Contact Number: +1(818)651-4991




